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STAFF SELECTION COMMISSION

(Government of India)
i

Combined Graduate Level Examination 2024 Tier Il

Roll Number
Candidate Name
Venue Name iON Digital Zone iDZ Kovilambakkam
Exam Date 18/01/2025
Exam Time 9:00 AM - 12:00 PM
Subject CGLE 2024 Tier Il Paper |

Section : Module | Mathematical Abilities

Q1 2
43— 02 + (E) — 8 + 7 x 6 P EIE AR
2
Ans 7 1.219
X 2.218
X 3.229
X 4.224

Question ID : 630680676743
Option 1 ID : 6306802650417
Option 2 ID : 6306802650419
Option 3 ID : 6306802650420
Option 4 ID : 6306802650418
Status : Answered
Chosen Option : 1

Q.2 Using empirical formula, calculate the mode for the following data.
17, 20, 21, 18, 25, 28, 24, 22, 16, 24, 25, 24

Ans 7 1.25
K 2.258

X 3.32
X 4.306

Question ID : 630680531333
Option 1 ID : 6306802077143
Option 2 ID : 6306802077141
Option 3 ID : 6306802077142
Option 4 ID : 6306802077144
Status : Marked For Review
Chosen Option : 2
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Q3 TRIX-2Y +2Z=16,X-Y+Z=93R2X-3Y-Z=9%,d Y B AN I
Hifomi
Ans X 1.2
X 2.-4
X 3.4
& 4.-3
Question ID : 630680553687
Option 1 ID : 6306802164644
Option 2 ID : 6306802164646
Option 3 ID : 6306802164647
Option 4 ID : 6306802164645
Status : Answered
Chosen Option : 2
Q4 3
V6859 3
i —— . o 5o
4
V1296 57
Ans X 1.17
X 2-3
X 3.16
& 4.7
Question ID : 630680677339
Option 1 ID : 6306802652813
Option 2 ID : 6306802652812
Option 3 ID : 6306802652814
Option 4 ID : 6306802652811
Status : Answered
Chosen Option : 4
Q5 (g7 X bd X7
g BT WP d T F1d BIfTT|
(a® X b5 X ¢?)
A - o -
" K1 @)X )X ()
X2 (@) x (*) x (ct)
v3 (@?)x () x (c*)
X4 @®)x ) x
Question ID : 630680677919
Option 1 ID : 6306802655133
Option 2 ID : 6306802655134
Option 3 ID : 6306802655131
Option 4 ID : 6306802655132
Status : Answered
Chosen Option : 3
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Q.6 TH AYSF HIK &, HJ = HK & G, HJ TR T fig 3T UPR @ i HG = GK = JK
21 (LHGK + .GKJ) & gI-fagrs #t {33l ara 7 32

Ans X 1.136°
X 2.90°
 3.96°
X 4.84°

Question ID : 630680399584
Option 1 ID : 6306801558213
Option 2 ID : 6306801558212
Option 3 ID : 6306801558211
Option 4 ID : 6306801558214
Status : Answered
Chosen Option : 3

Q.7 12 cm R 3R 5 cm $HATE A4 TP T Goi g U BT A (cm? #, 2
SR VI 9% QUITThd) Td S [ = % BT WART $]

Ans X 1.147.23
X 2.197.25
< 3.156.39
 4.188.57

Question ID : 630680594735
Option 1 ID : 6306802327013
Option 2 ID : 6306802327016
Option 3 ID : 6306802327014
Option 4 ID : 6306802327015
Status : Answered
Chosen Option : 4

Q8 Ry =8 +,/5 Wy =8 — /5 A + ywAATE?
Ans 7 1.138

X 2.140

X 3.124

X 4.143

Question ID : 630680677629
Option 1 ID : 6306802653971
Option 2 ID : 6306802653973
Option 3 ID : 6306802653974
Option 4 ID : 6306802653972
Status : Answered
Chosen Option : 1
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Q.9 gfe @7 fcaal @t sia 3myg 56 o @ 3R ISt A HT U 2: 5: 7 §,
T B fet 3y Jid STl
Ans X 1.26TY
X 2.20a%
 3.247T9
X 4.2299
Question ID : 630680630972
Option 11D : 6306802469839
Option 2 ID : 6306802469836
Option 3 ID : 6306802469838
Option 4 ID : 6306802469837
Status : Answered
Chosen Option : 3
Q.10 2200 m @S EIHR ¢F W, ANAT R Hidar 7 o=t wrsfrd v & fig @
AfhT faudta fa=m & R 20 km/h 3R 16 km/h BT =T | TS| A fFem
THY q1E Ugelt IR gH: e
Ans X 1.2 e 50 %S
X 2.2 e 20 A% s
X 3.3 e 20 A4S
4.3 e 40 Ads
Question ID : 630680595186
Option 11D : 6306802328946
Option 2 ID : 6306802328945
Option 3 ID : 6306802328947
Option 4 ID : 6306802328948
Status : Answered
Chosen Option : 4
Q.11 3fg S Ty By & el BT SgUTd 121 : 225 B, A T Yot BT
ST JTd BITTI
Ans X 1.11:13
% 2.15:13
253.9:11
& 4.11:15
Question ID : 630680674294
Option 11D : 6306802640688
Option 2 ID : 6306802640690
Option 3 ID : 6306802640687
Option 4 ID : 6306802640689
Status : Answered
Chosen Option : 4
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Q.12 ToTe fead F AR W TP Geul ©R U Wi a7 8, e ured o oot
WG U 26% Bt Fe BT ATH IST TP ¢ | afe Ty 22,050 B avgd Tear
2, dt 98 @ g & gr1 fpadt Tfr (2 #) samem?

Ans X 1.544

GET IT ON

Google Play

X 2.522
« 3.533
X 4.511
Question ID : 630680653713
Option 11D : 6306802559269
Option 2 ID : 6306802559267
Option 3 ID : 6306802559268
Option 4 ID : 6306802559266
Status : Answered
Chosen Option : 3
Q.13 TP AR o1 €15 F 10 THEA THGY Wlted1 g1 I a8 $79 A yedeh avg
&Y #1.7 § I9a1 8, 1 SHPT a1 ufasra % BT (&Y SRTHTT VI dF
quiifera 9 difvrg)|
Ans X 1.11.76
X 2.1276
2 3.14.33
 4.13.33
Question ID : 630680661950
Option 11D : 6306802591744
Option 2 ID : 6306802591745
Option 3 ID : 6306802591743
Option 4 ID : 6306802591742
Status : Answered
Chosen Option : 4
Q.14 fFafafaa sites! F mitueT Jra PRI (S gxmed RIF a@ quiifedl)
-SRI 0-5 5-10 10-15 15-20 20-25 25-30 30-35
dRARAI3542765
Ans X 1.1864
X 2.23.40
< 3.2053
o 4.2143
Question ID : 630680541168
Option 11D : 6306802115702
Option 2 ID : 6306802115705
Option 3 ID : 6306802115703
Option 4 ID : 6306802115704
Status : Answered

Chosen Option :

1
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Q.15 f5f RN FI 3SAP, QMR RF FT5:3: 4B U A dle g1 AR P
HI R A 21,500 3w frea §, @t @ &1 R framn 82

Ans X 1.%4,950
X 2.35,100

X 3.%4,680
 4.34,500

Question ID : 630680543904
Option 1 ID : 6306802126404
Option 2 ID : 6306802126403
Option 3 ID : 6306802126405
Option 4 ID : 6306802126406
Status : Answered
Chosen Option : 4

Q16 FET ST ABC T FHHIOT e € ST B TR FHAIOT E| TG tan A =
V3 & dfsin A cos C + cos A sin C 3R cos A cos C - sin A sin C
HT AT AT HifAT]

Ans @ 1.1,0
11

W 2, i
‘2

B2

x 3.

20

:l>
SR
B = ""’lm

Question ID : 630680526624
Option 1 ID : 6306802058565
Option 2 ID : 6306802058564
Option 3 ID : 6306802058562
Option 4 ID : 6306802058563
Status : Answered
Chosen Option : 1

Q.17 %2000 WR, 6.5% Y TS &2 W, 14 a3t 2023 | 28 A0 2023 P @A
fere AremuT =TS (2 H) A 0T B

Ans 7 1.26
X 2.24
X 3.27
X 4.25

Question ID : 630680666476
Option 1 ID : 6306802609464
Option 2 ID : 6306802609467
Option 3 ID : 6306802609466
Option 4 ID : 6306802609465
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.18 ¥% O I U I A AABC Seifofd e am 81 afg AB = 21 cm, BC =20 cm
%ﬁ'\'AC =29 cm®, ?ﬁﬁ'ﬂﬁ%ﬂﬁﬁﬂﬁﬁm (circumradius) Pt dars fpat
?

Ans X 1.325cm

& 2.21.5¢cm
o« 3.145¢cm
< 4.135¢cm

Question ID : 630680526633
Option 1 ID : 6306802058599
Option 2 ID : 6306802058598
Option 3 ID : 6306802058600
Option 4 ID : 6306802058601
Status : Answered
Chosen Option : 3

Q.19 3ifra 3R i1 i & ok 39 oy & ot 5 af 1 siav 31 sifrar & firar
ﬁﬁmﬁm,aﬁaﬁsngﬁzﬁﬁﬁ%,aﬁvﬁmaﬂm,aﬁmw
aﬁ&rr%a%’rau'—ﬁ%lﬁﬁm I B Y H 45 a9 PT 37 81 fe S,
ST A 9 2, @Y A= 3R I i) Ft ad AT 3y 1 4T I S|

Ans X 1.100 Y
 2.69 T
X 37894
X 4.91 a9

Question ID : 630680545553
Option 1 1D : 6306802132812
Option 2 ID : 6306802132815
Option 3 ID : 6306802132814
Option 4 ID : 6306802132813
Status : Answered
Chosen Option : 2

Q20 (57 —12y)° + (122 +5yP — 11422 P& FRACI
Ans 1 2572+ 1692

X2 23z + 177y

X3 2372+ 1747

X 4. 302 + 170y2

Question ID : 630680674736
Option 1 ID : 6306802642389
Option 2 ID : 6306802642390
Option 3 ID : 6306802642392
Option 4 ID : 6306802642391
Status : Marked For Review
Chosen Option : 1
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GET IT ON
Q.21 yyw 91 JH T@aft &1 3N fora=m 82
Ans X 1.93
& 2.92
< 3.91
X 4.90
Question ID : 630680657226
Option 1 ID : 6306802572849
Option 2 ID : 6306802572846
Option 3 ID : 6306802572847
Option 4 ID : 6306802572848
Status : Marked For Review
Chosen Option : 2
Q.22 1
75 BT 60%, 25 % —  fopa it 82
5
Ans X 1.34
% 2.38
X 3.37
 4.40
Question ID : 630680668031
Option 11D : 6306802615670
Option 2 ID : 6306802615671
Option 3 ID : 6306802615669
Option 4 ID : 6306802615668
Status : Answered
Chosen Option : 4
Q.23 TATAHGU MR UM 4: 5F UIAH I ST B H gy SR U 2: 1%
ST § 21 afg A BT x eltex figor B & y oftex fryor & ary foraman wiman 8, @
Y frgror & g SRR Ut T SUTA 8 : 5 B SIIGT & 1 3UTd x : y TId PO
Ans X 1.2:5
« 2.3:10
X 3.3:4
X 4.5:6
Question ID : 630680654960
Option 11D : 6306802563984
Option 2 ID : 6306802563985
Option 3 ID : 6306802563983
Option 4 ID : 6306802563982
Status : Answered
Chosen Option : 2
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Ans x 1
x| ——

V3

1

2/3
X3.\/§

v 4.1

x 2

Q24 Afe tan(x + yjtan(x —y) =1 &, @ tanx &7 H=1 TS

GET IT ON

Google Play

Question ID
Option 1 ID
Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 630680764495

: 6306802996520

: 6306802996521
6306802996518
6306802996519
Marked For Review
4

Q25 77 fiferg A 3R B 31 et & St erife # fe e & frg ga
?%?IAGﬁ?BWET%Hﬁ%EﬁﬁEﬁﬁWﬁﬁerzééﬁ?

%%‘laﬁﬁmﬂﬁwmaﬁzaﬁwﬁﬁﬁzﬁ?&aﬁaﬁ

1 WIfehar 872
Ans 1
<1—
12
1
X2 =
4
7
&3 —
12
5
4 —
12
Question ID : 630680543956
Option 11D : 6306802126611
Option 2 ID : 6306802126612
Option 3 ID : 6306802126613
Option 4 ID : 6306802126614
Status : Answered
Chosen Option : 4
Q.26 secO—tanf 1 N sinf — tan’0
g ——— = _— g ownmIagdmA A — @1
sech + tand sinf + tan’0
T 9Td P
Ans 13
X1—=
27
11
W 2.
29
13
~<3—
27
11
K4 —
29
Question ID : 630680671702
Option 1 ID : 6306802630351
Option 2 ID : 6306802630350
Option 3 ID : 6306802630352
Option 4 ID : 6306802630349
Status : Marked For Review
Chosen Option : 1
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Q.27 U ©F g1 Up Bt HATS 63 cm & 3R 3T I56 UF BT &A% d, 3P MUR
F Q% BT U™ A1 8 | [P BT A (cm3 H) faa1 gRm? (i = 22/7 #1
YT FIfE)

Ans X 1.11234.65

GET IT ON

Google Play

X 2.13540.25
o 3.10914.75
X 4.12589.10
Question ID : 630680671173
Option 11D : 6306802628254
Option 2 ID : 6306802628256
Option 3 ID : 6306802628253
Option 4 ID : 6306802628255
Status : Answered
Chosen Option : 4
Q.28 It 3R SHTEIT SHERT-SET HTH X §U TP HTH I HAN: 12 T 3R 16 g A
RTHR TPl §1 3 IR-GRY | TH-TP 37 S0 ol 81 afe I+ ugdt &1
P Y DIl 8, 91 P fpaq fa=t & gy 8 s
Ans 2
v 1 13:fe=
2
X2 12 e
1
xs 13 fe=
1
X412 e
Question ID : 630680262118
Option 1 1D : 6306801018122
Option 2 ID : 6306801018119
Option 3 ID : 6306801018121
Option 4 1D : 6306801018120
Status : Answered
Chosen Option : 1
Q.29 it I F FTHIEAT 2016 H 2018 dF 6% ATb &3 F T¢H 50,000 B TE,
3R 3rTe 3 aul d& gfe 5t ave oI @ AR A, 2016 B SHEET § 3R B,
2020 P} STEE B, A1 3T Tufae quifet & wfdee feu e §, @B - A
BT U F1d DI
Ans X 1.12850
X 2.16270
3. 11680
X 4.13220
Question ID : 630680464555
Option 1 1D : 6306801814255
Option 2 ID : 6306801814258
Option 3 ID : 6306801814256
Option 4 1D : 6306801814257
Status : Answered
Chosen Option : 2
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Q.30 U® G AHPTHR 8, St TH ATRNA W A (mounted) B3 & 1 I 37
i Bt FIAT 36 cm B TUT AP B HaATS 105 cm B | T &7 Tgef gt
&% (cm?2 H) J1d BIfvU|

Ans 7 1.6588

GET IT ON

Google Play

X 2.5240
X 3.5799 T
X 4.6025T
Question ID : 630680671333
Option 11D : 6306802628885
Option 2 ID : 6306802628888
Option 3 ID : 6306802628887
Option 4 ID : 6306802628886
Status : Answered
Chosen Option : 4
Section : Module Il Reasoning and General Intelligence
Q.1 T el & A 39 B &1 944 Hifon, s Fafafed femd v g
(?) B wfaeaTia HR TF |
9,5,6,10.5, 23, ?
Ans 7 1.60
X 2.50
X 3.9
X 4.80
Question ID : 630680182831
Option 1 1D : 630680708432
Option 2 ID : 630680708431
Option 3 ID : 630680708430
Option 4 1D : 630680708429
Status : Answered
Chosen Option : 1
Q2 I JHY T 994 B Fored H@ 3t weR Heifira § oy Frafefea
U= B TETE e g1
(Fite: TEm3i ®1 ITF Uk il | dg famm, wftsand gof wemsit w 3t st
AT IETE0T & T 13 AR - 13 W fpan S/ % 13 & S gem@n
TUIT BT 31T Y ST Hpell 31 13 B 1 3R 3 F ST a1 R 1 SR 3 R
ot wihaTd B @Y Srgufa AE B1)
(215, 185, 135)
(276, 246, 196)
Ans X 1.(294, 264, 224)
X 2. (255, 235, 205)
« 3.(238, 208, 158)
X 4. (269, 229, 199)
Question ID : 630680817143
Option 11D : 6306803200659
Option 2 ID : 6306803200661
Option 3 ID : 6306803200660
Option 4 ID : 6306803200658
Status : Answered
Chosen Option : 3
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Q.3 O,P, Q,R, S and T are sitting around a circular table facing the centre(but
not necessarily in the same order). P sits second to the left of T. S sits third
to the right of Q. Q is not an immediate neighbour of P. O sits second to the
right of S. Which of the following represents the position of O with respect
of R?

5 1. Immediate right
£< 2. Third to the left

Ans

«” 3. Second to the left
£< 4. Third to the right

GET IT ON

Google Play

Question ID : 630680416782
Option 11D : 6306801625893
Option 2 ID : 6306801625892
Option 3 ID : 6306801625891
Option 4 ID : 6306801625894
Status : Answered
Chosen Option : 3
Q.4 &t fAf3a Te U, ‘she gardens daily’ @ 'ak jb mp' & €U & Heds
foraT ST & 3R ‘where is she’ @1 'mp pt kt' & ¥U & Hedg [bar S g1 6
TS HTWT H 'she’ H1 fF TP R Heds forar Ta1 82
Ans X 1.kt
2. pt
 3.mp
& 4. ak
Question ID : 630680644318
Option 11D : 6306802522581
Option 2 ID : 6306802522582
Option 3 ID : 6306802522579
Option 4 ID : 6306802522580
Status : Answered
Chosen Option : 3
Q5 fFrafiiea # vt & § g § o vo-gen @ e fifda e & wafta 3
IR NG~ o v 9 € P 379 9 HeY € ok 39
TR TP THE I9T4 & | HIH-11 Vea-J7H 39 U § Tafea a1 872
(R1eat B AT A= ISl & TU W AT ST AR SR Weg A I 3HeRy B
TABEIRER] P WL P YR TR JY (grouped) &1 T ST ARY)
Ans X 1. HfeR - goll
X 2. fagez - 7t
X 3.7 - o R
o 4.1 - ORAT
Question ID : 630680523459
Option 1 ID : 6306802046017
Option 2 ID : 6306802046015
Option 3 ID : 6306802046016
Option 4 ID : 6306802046014
Status : Answered
Chosen Option : 4
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Q6 P,Q,R,S,T,U3NRVHITAS I wie, THIR A 3= g1 AR 3
THIW §11 918 AoATE & SfeT-3rerT faT 21
Q 3 qdten AR F) R1 S 3R Q P udtensii & dra Faw 3 safwg) H
e 31 R BT udie, s F1 udien & ugd §, AfeT P St udten F g 71 U A
e, T wdien & St a1g 31

v 3 rhen Fafaf@a # @ fpa fea ge
Ans X 1. gHdR
o 2.3MdaR
X 3. [®aR
X 4. TFER
Question ID : 630680595099
Option 11D : 6306802328600
Option 2 ID : 6306802328598
Option 3 ID : 6306802328597
Option 4 ID : 6306802328599
Status : Answered
Chosen Option : 2
Q7 ZAUYH, G FUA & 16 fApey F T H IR FHepd fyw e §1 fow e wyAY
F YR W Freffa ¥ b o1 a1 freed Aifda sud g 21
DY
A<B2C>D
C>E2F=G
Ans X 1.D<F
K 2.G>C
X 3.A<E
 4.B>G
Question ID : 630680416388
Option 11D : 6306801624316
Option 2 ID : 6306801624317
Option 3 ID : 6306801624315
Option 4 ID : 6306801624318
Status : Answered
Chosen Option : 4
Q.8 uo uy far war B, o/ are 1 3R 1 HHIfPT & HU= fou 1T g1 tguH
I P PH-FVPT-H FYT 39 Y BT IR o4 P foe vaiw/smawas 2El
UY:
3Rfde F U 1A, & 3R Tibe F &1 TS U Hivg Wt i § @ g
) BT ufasrd feaar 82
DY
(1) 9P T A R HAf STAT 7 B
(I1) 3P 9T 10 il & | 3 g &4 gl
Ans X 1. HYF | 3R |1 H 3z T SeT U A1y IR Y 1 SR 34 & forg uui §
X 2. By | H o T et a8 Uy BT IR &1 & o gaied § Safer e 1 H fean
2T 3 Uy BT IR 4 b fo7Y Taied -Tei &
X 3. BYT | 3R 1| F T 7Tar ST U 1Y AR Uy &1 IR & & o vt el §
o 4. U || B o T ST Sidhd € Uy T SR S & foTg yat § Safes e | | far
2 3B UY BT IR 7 & oY T T8 &
Question ID : 630680561104
Option 11D : 6306802193431
Option 2 ID : 6306802193429
Option 3 ID : 6306802193432
Option 4 ID : 6306802193430
Status : Answered
Chosen Option : 4

GET IT ON
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Q9 TR A BT '+ B, B T3 'x' B, 'C BT 3 '+ B IR D BT O B, A
Frafafaa e # uy-RE (7) & RIME R |1 3Me?

55B5D13B2C14A7D15B5C102A2C15="?
Ans 7 1.242

X 2.291
X 3.177

X 4.203

Question ID : 6306801081427
Option 1 ID : 6306804247263
Option 2 ID : 6306804247264
Option 3 ID : 6306804247265
Option 4 ID : 6306804247262
Status : Answered
Chosen Option : 1

Q.10 I &I APpeu &1 7= Fifvre o FHafeiEd w<! $t oawn i @i ik
1 A | T 21

1. %Trﬂ%:l' (Design) 2. Tderor (Test) 3. HHUAT (Conceptualize) 4. oo
(Develop) 5. PHraTaa (Implement)

Ans 7 1.3,1,4,2,5
X 2.3,1,54,2
25 3.3,52,4,1
X 4.1,4,53,2

Question ID : 630680522653
Option 1 ID : 6306802042909
Option 2 ID : 6306802042910
Option 3 ID : 6306802042912
Option 4 ID : 6306802042911
Status : Answered
Chosen Option : 1

Q.11 Each of the digits in the number 5238641 is arranged in
ascending order from left to right. The position(s) of how many
digits will remain unchanged as compared to that/those in the
original number ?

Ans X 1.0ne

o 2. Two
25 3. None

5 4. Three

Question ID : 630680674151
Option 1 ID : 6306802640132
Option 2 ID : 6306802640133
Option 3 ID : 6306802640131
Option 4 ID : 6306802640134
Status : Answered
Chosen Option : 2
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Q.12 fawedt ® & 7 39 rpfa B ygaE PR R uy 77 (2) F RMA R 7@

R e arfdb® 9§ guf g) smgft|
* . 1 * T|e L * . )
1 . * 1 ?
l l
Ans 3 *
o 1. [ ]
l
1l . i)
52 *
. 1 l
& 3. *
1 .
X 4. *
1

Question ID : 630680542590
Option 1 ID : 6306802121289
Option 2 ID : 6306802121292
Option 3 ID : 6306802121291
Option 4 ID : 6306802121290
Status : Answered
Chosen Option : 1

Q13 U NBTRATZIN, TH TG RI T, IPT U B1 1, LPTII ]I U BT L & FIT WY

g2
Ans X 1. QFHAY P TET
X 2.939Y
o 3. Y & fUar
X 4. GFIY P HI

Question ID : 630680585641
Option 1 ID : 6306802291323
Option 2 ID : 6306802291322
Option 3 ID : 6306802291325
Option 4 ID : 6306802291324
Status : Answered
Chosen Option : 3
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Q.14 Read the following information and answer the question which follows.

“Similar to expert puzzle solvers, Solver S employs systematic problem-
solving approaches, ensuring efficient and accurate resolutions to
complex challenges.”

Which of the following can be inferred from the given statement? (An
inference is something which is not directly stated but can be derived from
the given facts/information in the statement)

1. The efficiency and accuracy of Solver S in resolving complex challenges
may be attributed to their systematic problem-solving methods.

2. Solver S utilizes systematic problem-solving approaches, similar to
expert puzzle solvers.

Ans ¢ 1.Both (I) and (Il) can be inferred.
£< 2. Only (Il) can be inferred.
£< 3. Only (1) can be inferred.
£#< 4. Neither (1) nor (I1) can be inferred.

Question ID : 630680557216
Option 1 ID : 6306802177843
Option 2 ID : 6306802177845
Option 3 ID : 6306802177846
Option 4 ID : 6306802177844
Status : Answered
Chosen Option : 1

Q.15 fafafae wen-gm §, g e w Ay afordy afeat 3% gad
T U @Y et B | e R en-ge & § fF § 99 fed ang
Toar o 2 SR 39T 3 U wgg a1 §1 99 WCT-g HT 99+ $Ifeg St
9 g @ Yafia T 81

(Fite: TE3i H ITF e il a3 gof Temait R wfeand i st
AMRT | IETERVT & 1T 13 &Y fifSre - 13 x wfebare, 99 fb 13 A sirgT"eAY
TUTT AT 1T, Y ST Fbelt 31 13 Y 1 3R 3 F i SR R 1 SR 3 W
Tt wfhamd s Bt srgafa TR 1)

Ans X 1.22-242
 2.13-144
< 3.18-198
X 4.31-341

Question ID : 630680570363
Option 1 ID : 6306802231911
Option 2 ID : 6306802231909
Option 3 ID : 6306802231910
Option 4 ID : 6306802231912
Status : Answered
Chosen Option : 2
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Ans 7 1.P
X 2.U
< 3s
P Y%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680616879
6306802413763
6306802413761
6306802413762
6306802413760
Answered

1
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Ans o 1 | 3R 1| ST SHIfaE THTd § |
X 2.%ad | U JHIfAd g4 &1
3. 11 3R 11l I FHTfad gqTa 3
X 4.%ad || U JUIfId UHTa 3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680568507
6306802222848
6306802222845
6306802222847
6306802222846
Answered

3
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Q.18

Ans
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X 4. e (1) 3R (11) Y SITERYT R B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680571371
6306802234520
6306802234517
6306802234519
6306802234518
Answered

3
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Ans
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Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680629191
6306802462847
6306802462846
6306802462848
6306802462849
Answered

2
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Ans 7 1.C
X 2D
K 3A
X 4B

Question ID : 630680653544
Option 1 ID : 6306802558592
Option 2 ID : 6306802558593
Option 3 ID : 6306802558590
Option 4 ID : 6306802558591
Status : Answered
Chosen Option : 1

Q.21 39 fAwey Tpfa &1 T B ot i faw v fm § te & quf 71 & forg
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Ans

x 2

x 4
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Question ID : 630680684116
Option 1 ID : 6306802679224
Option 2 ID : 6306802679225
Option 3 ID : 6306802679223
Option 4 ID : 6306802679222
Status : Answered
Chosen Option : 1
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Ans X 1.4
X 28
< 3.1
& 4.3
Question ID : 630680681050
Option 1 ID : 6306802667415
Option 2 ID : 6306802667416
Option 3 ID : 6306802667414
Option 4 ID : 6306802667413
Status : Answered
Chosen Option : 4
Q.23 ©s fAfya ge v F,
A+B@T g fh'A BPHMTE,
A-BHTAAEF A BHTHE T,
AxBHT I fF A B H Telt &' 3R
A:BBTIIRfF A BB
SHPIMURR, AR 'U+V+W-Yx2' 8, a1 UPTZ A T I9Y 22
Ans X 1. Tl ®I At
X 2. Udl B A
X 3. Udl DI gan
4. T B e
Question ID : 630680681069
Option 1 ID : 6306802667492
Option 2 ID : 6306802667491
Option 3 ID : 6306802667490
Option 4 ID : 6306802667489
Status : Answered
Chosen Option : 4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680564855
6306802208354
6306802208355
6306802208356
6306802208357
Answered

2
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Q.25 A statement is followed by two arguments | and Il. Read the statement and

the arguments carefully and select the appropriate answer from the given
options.

Statement:

Hydroelectricity is a cleaner and greener energy than other forms of power
generation.

Arguments:
(I) Hydroelectric plants almost have nil CO; emissions.

(1) Hydroelectric power projects submerge huge amounts under water
thereby affecting local flora and fauna.

GET IT ON

Google Play

Ans X 1.Both | and Il strengthen the statement.
25 2. 1 weakens while Il strengthens the statement.
«” 3. Il weakens while | strengthens the statement.
#< 4. Both | and Il weaken the statement.
Question ID : 630680564142
Option 1 ID : 6306802205528
Option 2 ID : 6306802205525
Option 3 ID : 6306802205526
Option 4 ID : 6306802205527
Status : Answered
Chosen Option : 3
Q.26 &g gUur #1 T g=ITT SR AT MN R T 9T, 4t foT T Wae & It
g yfafde &1 7= Fiferw
Y57nBe2
A
ns X1 Csf8nfaY
X2 Coguvay
X3 29Bn\cY
v 4 So8n\cY
Question ID : 630680619807
Option 1 ID : 6306802425361
Option 2 ID : 6306802425362
Option 3 ID : 6306802425364
Option 4 ID : 6306802425363
Status : Answered
Chosen Option : 4
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Question ID : 630680561062
Option 1 ID : 6306802193197
Option 2 ID : 6306802193199
Option 3 ID : 6306802193200
Option 4 ID : 6306802193198
Status : Answered
Chosen Option : 2

Q.28 37sE RECOGNIZE & U, T, 58 3R HIad J1&RT (@1 ¥ g M 911 |®))
FT IUART HRF 3o & fpat Sriquf 2reg s=TT &1 whd § IS vl g #
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Ans ;(1_@
o 2. PR T
X3
X 4.

Question ID : 630680522658
Option 1 ID : 6306802042930
Option 2 ID : 6306802042929
Option 3 ID : 6306802042931
Option 4 ID : 6306802042932
Status : Marked For Review
Chosen Option : 1

Q.29 Fgfafad & 9 5y seR-agg §RT # 3R % $i ufaenfia fFar s @ty
P :: F 18 3R F 3eR-TUE TH & S &1 T 3R WY, :: F 35 iR &
HEeR-TYE T & e 3R TeY & U 812

#:XAF :: SVA: %

Ans X 1.#=BEJ % =ORP
X 2.#=BEJ % = QRW
< 3.#=BBJ % = ORW
o 4.#=BEJ % = ORW

Question ID : 630680731372
Option 1 ID : 6306802866180
Option 2 ID : 6306802866182
Option 3 ID : 6306802866181
Option 4 ID : 6306802866183
Status : Answered
Chosen Option : 4
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Q.30 Select the correct option that indicates the arrangement of the following
words in a logical and meaningful order.

1. Delivery

2. Finished Paper
3.Dry

4. Pulp

5. Press

Ans X 1.54,2 3,1
% 2.4,1,2,53
£3.2,54,3,1
& 4.4,5,3,2,1
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Question ID : 630680523401
Option 1 1D : 6306802045785
Option 2 ID : 6306802045784
Option 3 ID : 6306802045783
Option 4 ID : 6306802045782
Status : Answered
Chosen Option : 4
Section : Module | English Language and Comprehension
Q.1 Select the option that can be used as a one-word substitute for the given
group of words.
One who cannot make a mistake
Ans X 1. Inevitable
«” 2. Infallible
£< 3. Inimitable
25 4. Impregnable
Question ID : 63068069344
Option 11D : 630680268054
Option 2 1D : 630680268056
Option 3 ID : 630680268057
Option 4 ID : 630680268055
Status : Answered
Chosen Option : 2
Q.2 Select the most appropriate option to fill in the blank.
Luck does not always favour us, so we must always depend our
own efforts for success.
Ans 7 1.upon
&2, for
& 3.in
K 4 at
Question ID : 630680145368
Option 1 1D : 630680562448
Option 2 ID : 630680562447
Option 3 ID : 630680562446
Option 4 ID : 630680562449
Status : Answered
Chosen Option : 1
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Q.3 Select the most appropriate meaning of the underlined word.

He walked leisurely towards the entrance.
Ans X 1. reassuringly

25 2. hastily
25 3. with a kickstart

«” 4. without haste

Question ID : 630680112405
Option 1 ID : 630680435333
Option 2 ID : 630680435330
Option 3 ID : 630680435332
Option 4 ID : 630680435331
Status : Marked For Review
Chosen Option : 4

Q.4 Select the most appropriate ANTONYM of the given word.
Accumulated

Ans 7 1. Scattered
< 2. Spared
#< 3. Bunched
25 4. Garnered

Question ID : 630680182486
Option 1 ID : 630680707099
Option 2 ID : 630680707096
Option 3 ID : 630680707097
Option 4 ID : 630680707098
Status : Answered
Chosen Option : 1

Q.5 Select the option that expresses the given sentence in passive voice.

Everyone was surprised at his speech.

Ans X 1. His speech surprise everyone.
#< 2. His speech was surprising to everyone.
< 3. His speech is surprising everyone.

«” 4. His speech surprised everyone.

Question ID : 630680616655
Option 1 ID : 6306802412880
Option 2 ID : 6306802412883
Option 3 ID : 6306802412882
Option 4 ID : 6306802412881
Status : Answered
Chosen Option : 4
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Q.6 Parts of a sentence are given below in jumbled order. Arrange the parts in
the correct order to form a meaningful sentence.

a. beginning in the 19th century,
b. was long a mystery, and
c. the origin of the Moon

d. three competing theories emerged to solve it
Ans 7 1.cbad

GET IT ON

Google Play

# 2. dcab
#< 3. bdca
25 4. abdc
Question ID : 630680730505
Option 1 ID : 6306802862697
Option 2 ID : 6306802862698
Option 3 ID : 6306802862699
Option 4 ID : 6306802862700
Status : Answered
Chosen Option : 1
Q.7 A sentence has been split up into segments and given below in jumbled
order. While the first and the last segments of the sentence (1 and 6) are in
the correct order, the segments in between are jumbled up. Arrange the
segments in the correct order to form a meaningful and coherent sentence.
1) India has been a land
P) and the learned man has been held in higher esteem
Q) of learning through the ages
R) but in the sense that learning has always been very highly valued
S) not indeed in the sense that education has been universal
6) than the warrior or the administrator.
Ans X 1.R,Q,S,P
& 2.8,R,Q,P
« 3.QSRP
K 4P S QR
Question ID : 630680295269
Option 11D : 6306801148803
Option 2 ID : 6306801148800
Option 3 ID : 6306801148801
Option 4 ID : 6306801148802
Status : Answered
Chosen Option : 3
Q.8 Select the most appropriate option to fill in the blank.
The mango is fruit.
Ans X 1. sweetly
< 2. sweeter
o 3. sweetest
5 4. sweet
Question ID : 630680617611
Option 11D : 6306802416676
Option 2 ID : 6306802416675
Option 3 ID : 6306802416674
Option 4 ID : 6306802416673
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.9 Parts of a sentence are given below in jumbled order. Select the option that
gives their correct logical sequence to form a meaningful sentence.
a. it requires constant sustenance
b. in order for life to be liveable,
c. that enable it to grow and develop
d. and favourable circumstances

Ans X 1.b,d,a,c

& 2.ab,cd
25 3.d,¢c,b,a
 4.b,a,dc

Question ID : 630680171759
Option 1 ID : 630680665474
Option 2 ID : 630680665471
Option 3 ID : 630680665472
Option 4 ID : 630680665473
Status : Answered
Chosen Option : 4

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the
sentences in the correct order to form a meaningful and coherent
paragraph.

A. As cost of raw materials cannot be reduced, exporters try to cut labour
costs.

B. Large MNCs in the garment industry in Europe and America order their
products from Indian exporters.

C. These large MNCs with worldwide network look for the cheapest goods
in order to maximise their profits.

D. To get these large orders, Indian garment exporters try hard to cut their
own costs.

E. Where earlier a factory used to employ workers on a permanent basis,
now they employ workers only on a temporary basis so that they do not
have to pay workers for the whole year.

Ans 7 1.BCDAE
< 2. ADECB
< 3.DCABE
< 4. CDAEB

Question ID : 630680628235
Option 1 ID : 6306802458957
Option 2 ID : 6306802458958
Option 3 ID : 6306802458955
Option 4 ID : 6306802458956
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate pronoun to fill in the blank.
Mr. Amit Kumar, Proprietor of Xyling Pens is known for honesty
and decent behaviour in the business arena.

Ans X 1.they
X 2.t
3. his
& 4. her

Question ID : 630680158944
Option 1 ID : 630680615245
Option 2 ID : 630680615246
Option 3 ID : 630680615247
Option 4 ID : 630680615244
Status : Answered
Chosen Option : 3
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Q.12 Select the most appropriate homophone from the options to fill in the
blank.
We should

Ans X 1. cost

away all prejudices to live in harmony.

GET IT ON
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Chosen Option :

o 2. cast
#< 3. coast
5 4. caste
Question ID : 630680168552
Option 11D : 630680652820
Option 2 ID : 630680652822
Option 3 ID : 630680652823
Option 4 ID : 630680652821
Status : Answered
Chosen Option : 2
Q.13 Select the most appropriate ANTONYM of the word given below.
Enhance
Ans 7 1. Impair
£< 2. Enrich
< 3. Relevance
< 4. Miracle
Question ID : 630680166476
Option 1 ID : 630680644826
Option 2 ID : 630680644827
Option 3 ID : 630680644824
Option 4 ID : 630680644825
Status : Answered
Chosen Option : 1
Q.14 Parts of the following sentence have been given as options. Select the
option that contains an error.
It takes me an hour to get to work at the moment, but when the new road is
finished it be much quicker.
Ans ¢ 1.it be much quicker
£< 2. at the moment
£< 3. but when the new road is finished
25 4. It takes me an hour to get to work
Question ID : 630680751153
Option 1 ID : 6306802944041
Option 2 ID : 6306802944039
Option 3 ID : 6306802944040
Option 4 ID : 6306802944038
Status : Answered

1
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Q.15 Sentences of a paragraph are given below in jumbled order. Arrange the
sentences in the correct order to form a meaningful and coherent
paragraph.

A. It consists of a terracotta army of approximately 8000 life-sized men and
horses.

B. Each of the horses and men is individually sculpted by a 3-inch-thick
terracotta clay and looks unique.

C. Shi Huangdi was the founder of Qin Dynasty and was the first ruler of
unified China in 221 BC.

D. His mausoleum was recently discovered in 1974 by Chinese peasants
who were drilling a well.

Ans 7 1.CDAB

GET IT ON

Google Play

#< 2. CBAD
#< 3.CADB
#< 4. CABD
Question ID : 630680617332
Option 1 1D : 6306802415570
Option 2 ID : 6306802415573
Option 3 ID : 6306802415571
Option 4 ID : 6306802415572
Status : Answered
Chosen Option : 1
Q.16 Select the most appropriate ANTONYM of the given word.
Generous
Ans 7 1.Selfish
£#< 2. Magnanimous
25 3. Benevolent
25 4. Altruistic
Question ID : 630680570739
Option 1 ID : 6306802231977
Option 2 ID : 6306802231980
Option 3 ID : 6306802231978
Option 4 ID : 6306802231979
Status : Answered
Chosen Option : 1
Q.17 Select the most appropriate meaning of the underlined idiom.
The team decided to pull out all the stops for their upcoming presentation.
Ans X 1. Give up easily and without thinking much
25 2. Keep things simple and straightforward
25 3. Wait patiently for a more favourable time
«” 4. To do everything to make something successful
Question ID : 630680639283
Option 11D : 6306802502856
Option 2 ID : 6306802502857
Option 3 ID : 6306802502854
Option 4 ID : 6306802502855
Status : Answered
Chosen Option : 4
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Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the
sentences in the correct order to form a meaningful and coherent
paragraph.

A. Psychotherapy is a voluntary relationship between the one seeking
treatment or the client and the one who treats or the therapist.

B. The relationship is conducive for building the trust of the client so that
problems may be freely discussed.

C. The purpose of the relationship is to help the client to solve the
psychological problems being faced by her or him.

D. Psychotherapies aim at changing the maladaptive behaviours,
decreasing the sense of personal distress and helping the client to adapt
better to her/his environment.

E. Inadequate marital, occupational and social adjustment also requires
that major changes be made in an individual’s personal environment.

Ans X 1.EDACB
X 2. DCABE
X 3.CDEBA
« 4. ACBDE

Question ID : 630680628213
Option 1 ID : 6306802458864
Option 2 ID : 6306802458863
Option 3 ID : 6306802458865
Option 4 ID : 6306802458866
Status : Answered
Chosen Option : 4

Q.19 Select the option that expresses the given sentence in direct speech.

The District Magistrate ordered the police to work all night and put an end
to those riots.

Ans X 1. The District Magistrate told the police, "Work all night and put to end these riots."
«” 2. The District Magistrate told the police, "Work all night and put an end to these riots."
£< 3. The District Magistrate told the police, "Work all night to put an end these riots."

#< 4. The District Magistrate told the police, "Work all night and put an end to their riots."

Question ID : 630680627823
Option 1 ID : 6306802457393
Option 2 ID : 6306802457391
Option 3 ID : 6306802457394
Option 4 ID : 6306802457392
Status : Answered
Chosen Option : 2

Q.20 Select the option that expresses the given sentence in passive voice.

Did you hear that noise?
Ans ¢ 1. Was that noise heard by you?

£< 2. Wasn't that noise heard by you?
#< 3. Has that noise been heard by you?
25 4. Is that noise heard by you?

Question ID : 630680627559
Option 1 ID : 6306802456338
Option 2 ID : 6306802456341
Option 3 ID : 6306802456339
Option 4 ID : 6306802456340
Status : Answered
Chosen Option : 1
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Q.21 Select the option that expresses the given sentence in direct speech.

The teacher informed that the exam had been postponed.

Ans ¢ 1. The teacher informed, “The exam has been postponed.”
#< 2. The teacher informs, “The exam had been postponed.”
#< 3. The teacher informed, “The exam was being postponed.”

#< 4. The teacher informs, “The exam has been postponed.”

GET IT ON
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Question ID : 630680628022
Option 1 1D : 6306802458146
Option 2 ID : 6306802458144
Option 3 ID : 6306802458145
Option 4 ID : 6306802458143
Status : Answered
Chosen Option : 1
Q.22 Select the option that expresses the given sentence in reported speech.
'l am determined to publish my findings,’ the scientist asserted confidently.
Ans X 1. The scientist confidently asserted that she had determined to publish her findings.
«” 2. The scientist confidently asserted that she was determined to publish her findings.
#< 3. The scientist confidently asserted that she would be determined to publish her
findings.
25 4. The scientist confidently asserted that she is determined to publish her findings.
Question ID : 630680607922
Option 11D : 6306802378871
Option 2 ID : 6306802378869
Option 3 ID : 6306802378872
Option 4 ID : 6306802378870
Status : Answered
Chosen Option : 2
Q.23 Select the correct spelling of the incorrectly spelt word in the given
sentence.
The trainer tried to guage the learners’ understanding of the subject by
asking several new questions.
Ans 7 1.Gauge
25 2. Gaage
25 3. Gaugg
25 4. Gaaug
Question ID : 6306801320360
Option 1 1D : 6306805195995
Option 2 ID : 6306805195998
Option 3 ID : 6306805195996
Option 4 ID : 6306805195997
Status : Answered
Chosen Option : 1
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Q.24

Complete the dialogue for Person B using the correct idiom.

Person A: | am so nervous. | don’t think | should make the speech
tomorrow.

GET IT ON

Google Play

Person B: No. You are just getting . You have prepared for this.
Ans 7 1.cold feet
25 2. hot feet
£< 3. cold foot
< 4. cold hand
Question ID : 630680333139
Option 11D : 6306801295830
Option 2 ID : 6306801295829
Option 3 ID : 6306801295831
Option 4 ID : 6306801295832
Status : Answered
Chosen Option : 1
Q.25 Select the correct spelling of the incorrectly spelt word in the given
sentence.
All criminal attitudes must be niped at the bud.
Ans X 1. Nipeed
#< 2. Nipedd
£< 3. Niiped
«” 4. Nipped
Question ID : 6306801309320
Option 11D : 6306805152123
Option 2 ID : 6306805152124
Option 3 ID : 6306805152121
Option 4 ID : 6306805152122
Status : Answered
Chosen Option : 4
Q.26 Select the option that expresses the given sentence in passive voice.
The explosion caused serious damage in Ukraine.
Ans X 1. Serious damage in Ukraine has been caused by the explosion.
< 2. Serious damage has been caused by the explosion in Ukraine.
«” 3. Serious damage was caused by the explosion in Ukraine.
#< 4. In Ukraine, serious damage had been caused by the explosion.
Question ID : 630680182484
Option 11D : 630680707090
Option 2 ID : 630680707088
Option 3 ID : 630680707089
Option 4 ID : 630680707091
Status : Answered
Chosen Option : 3
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Q.27 Select the most appropriate option to fill in the blank.

Rashid was not able to the pain after the accident.

Ans 7 1. bear
< 2. bare

£ 3. buyer
< 4. beer

Question ID : 630680674113
Option 1 ID : 6306802639981
Option 2 ID : 6306802639979
Option 3 ID : 6306802639982
Option 4 ID : 6306802639980
Status : Answered
Chosen Option : 1

Q.28 Select the option that can be used as a one-word substitute for the given
group of words.

A sudden and violent change or upheaval
Ans X 1. Equanimity
«” 2. Turbulence
25 3. Tranquility
25 4. Serenity

Question ID : 6306801047562
Option 1 ID : 6306804112308
Option 2 ID : 6306804112305
Option 3 ID : 6306804112307
Option 4 ID : 6306804112306
Status : Marked For Review
Chosen Option : 2

Q.29 Select the most appropriate option to fill in the blank.

No other book in the series captivated readers as as
the final instaliment.

Ans X 1.many
£< 2. most

25 3. more
«” 4. much

Question ID : 630680596018
Option 1 ID : 6306802332257
Option 2 ID : 6306802332258
Option 3 ID : 6306802332256
Option 4 ID : 6306802332259
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climate change (1) an imminent threat to our planet, demanding urgent global action.
The rise in greenhouse gas emissions, deforestation and unsustainable practices contribute
to extreme weather events, rising sea levels and disruptions in ecosystems. To (2)

these effects, a collaborative international effort is essential. Nations (3) commit to
reducing carbon emissions, transitioning to renewable energy sources and implementing
sustainable practices. Cooperation on technological advancements and sharing resources will
foster a collective resilience against the impacts of climate change. The urgency of this issue
calls for a united front, where governments, businesses and individuals work together to
create a sustainable and resilient future for the (4) to come.

SubQuestion No : 30
Q.30 Select the most appropriate option to fill in blank number 1.
Ans X 1. will be posing

& 2. will pose
«” 3. poses
< 4. posed

Question ID : 630680530551
Option 1 ID : 6306802074096
Option 2 ID : 6306802074095
Option 3 ID : 6306802074094
Option 4 ID : 6306802074093
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climate change (1) an imminent threat to our planet, demanding urgent global action.
The rise in greenhouse gas emissions, deforestation and unsustainable practices contribute
to extreme weather events, rising sea levels and disruptions in ecosystems. To (2)

these effects, a collaborative international effort is essential. Nations (3) commit to
reducing carbon emissions, transitioning to renewable energy sources and implementing
sustainable practices. Cooperation on technological advancements and sharing resources will
foster a collective resilience against the impacts of climate change. The urgency of this issue
calls for a united front, where governments, businesses and individuals work together to
create a sustainable and resilient future for the (4) to come.

SubQuestion No : 31
Q.31 Select the most appropriate option to fill in blank number 2.
Ans X 1. maximise

«” 2. mitigate
X 3.inflate
< 4. widen

Question ID : 630680530552
Option 1 ID : 6306802074097
Option 2 ID : 6306802074099
Option 3 ID : 6306802074098
Option 4 ID : 6306802074100
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climate change (1) an imminent threat to our planet, demanding urgent global action.
The rise in greenhouse gas emissions, deforestation and unsustainable practices contribute
to extreme weather events, rising sea levels and disruptions in ecosystems. To (2)

these effects, a collaborative international effort is essential. Nations (3) commit to
reducing carbon emissions, transitioning to renewable energy sources and implementing
sustainable practices. Cooperation on technological advancements and sharing resources will
foster a collective resilience against the impacts of climate change. The urgency of this issue
calls for a united front, where governments, businesses and individuals work together to
create a sustainable and resilient future for the (4) to come.

SubQuestion No : 32
Q.32 Select the most appropriate option to fill in blank number 3.
Ans X 1. could

< 2. would
5 3. might

o 4. must

Question ID : 630680530553
Option 1 ID : 6306802074101
Option 2 ID : 6306802074102
Option 3 ID : 6306802074103
Option 4 ID : 6306802074104
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climate change (1) an imminent threat to our planet, demanding urgent global action.
The rise in greenhouse gas emissions, deforestation and unsustainable practices contribute
to extreme weather events, rising sea levels and disruptions in ecosystems. To (2)

these effects, a collaborative international effort is essential. Nations (3) commit to
reducing carbon emissions, transitioning to renewable energy sources and implementing
sustainable practices. Cooperation on technological advancements and sharing resources will
foster a collective resilience against the impacts of climate change. The urgency of this issue
calls for a united front, where governments, businesses and individuals work together to
create a sustainable and resilient future for the (4) to come.

SubQuestion No : 33
Q.33 Select the most appropriate option to fill in blank number 4.
Ans ¢ 1. generations

25 2. businessmen
/< 3. poor people

25 4. backward nations

Question ID : 630680530554
Option 1 ID : 6306802074105
Option 2 ID : 6306802074106
Option 3 ID : 6306802074107
Option 4 ID : 6306802074108
Status : Answered
Chosen Option : 1
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Comprehension:

Read the given passage and answer the questions that follow.

Subhas Chandra Bose, a prominent Indian nationalist leader, was convinced that India could
not achieve independence without the use of force, and he believed that a military campaign
was necessary to achieve this goal. In 1942, Bose formed the Indian National Army (INA) with
the help of the Japanese.

Bose travelled to Japan in 1941 to seek their support in the struggle against British rule in
India. The Japanese were interested in having Bose’s help in their own efforts to expand their
influence in Southeast Asia. Bose’s vision was to create a military force to fight against the
British in India with the help of Japanese weapons and training. The INA was formed in
Singapore in September 1942 with the slogan ‘Jai Hind’ (Victory to India). The INA consisted
of soldiers who were primarily from the Indian community in Southeast Asia. They were
trained by Japanese officers and were equipped with Japanese weapons. The INA fought
alongside Japanese forces in Burma and other parts of Southeast Asia during World War 1.
Bose’s leadership of the INA and his military campaigns against the British in India made him
a popular figure among many Indians. The consequences of the formation of the INA were
significant. The INA's campaigns against the British in India and the Indian soldiers’ role in the
Burma campaign had a psychological impact on the British forces. The British were shocked
that Indian soldiers had turned against them, undermining their confidence in maintaining
control over India. The INA also had a significant impact on the Indian independence
movement. Bose’s vision of a socialist India with equal rights for all citizens inspired many
Indians. The INA became a symbol of the struggle against British colonialism, and Bose’s
slogan of ‘Jai Hind’ became a rallying cry for the independence movement.

However, the INA's military campaigns were not successful in achieving their goal of freeing
India from British rule. The INA suffered significant losses in battles, and their efforts were
undermined by the Japanese surrender in 1945.

SubQuestion No : 34

Q.34 What was the primary reason for the Japanese to support Subhas Chandra
Bose and the formation of the INA?

Ans X 1. They were looking for allies in their fight against the British Empire.
«” 2. They wanted to expand their influence in Southeast Asia.
/5 3. They believed in Bose’s vision of a communist India.

/5 4. They believed in India’s right to self-determination.

Question ID : 630680513127
Option 1 ID : 6306802005337
Option 2 ID : 6306802005335
Option 3 ID : 6306802005334
Option 4 ID : 6306802005336
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Comprehension:

Read the given passage and answer the questions that follow.

Subhas Chandra Bose, a prominent Indian nationalist leader, was convinced that India could
not achieve independence without the use of force, and he believed that a military campaign
was necessary to achieve this goal. In 1942, Bose formed the Indian National Army (INA) with
the help of the Japanese.

Bose travelled to Japan in 1941 to seek their support in the struggle against British rule in
India. The Japanese were interested in having Bose’s help in their own efforts to expand their
influence in Southeast Asia. Bose’s vision was to create a military force to fight against the
British in India with the help of Japanese weapons and training. The INA was formed in
Singapore in September 1942 with the slogan ‘Jai Hind’ (Victory to India). The INA consisted
of soldiers who were primarily from the Indian community in Southeast Asia. They were
trained by Japanese officers and were equipped with Japanese weapons. The INA fought
alongside Japanese forces in Burma and other parts of Southeast Asia during World War 1.
Bose’s leadership of the INA and his military campaigns against the British in India made him
a popular figure among many Indians. The consequences of the formation of the INA were
significant. The INA's campaigns against the British in India and the Indian soldiers’ role in the
Burma campaign had a psychological impact on the British forces. The British were shocked
that Indian soldiers had turned against them, undermining their confidence in maintaining
control over India. The INA also had a significant impact on the Indian independence
movement. Bose’s vision of a socialist India with equal rights for all citizens inspired many
Indians. The INA became a symbol of the struggle against British colonialism, and Bose’s
slogan of ‘Jai Hind’ became a rallying cry for the independence movement.

However, the INA's military campaigns were not successful in achieving their goal of freeing
India from British rule. The INA suffered significant losses in battles, and their efforts were
undermined by the Japanese surrender in 1945.

SubQuestion No : 35
Q.35 How did Subhas Chandra Bose view India’s fight for independence?

Ans X 1. Through economic sanctions
#< 2. Through non-violent means
«” 3. Through military campaigns

5 4. Through political negotiations

Question ID : 630680513124
Option 1 ID : 6306802005325
Option 2 ID : 6306802005322
Option 3 ID : 6306802005323
Option 4 ID : 6306802005324
Status : Answered
Chosen Option : 3
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Comprehension:

Read the given passage and answer the questions that follow.

Subhas Chandra Bose, a prominent Indian nationalist leader, was convinced that India could
not achieve independence without the use of force, and he believed that a military campaign
was necessary to achieve this goal. In 1942, Bose formed the Indian National Army (INA) with
the help of the Japanese.

Bose travelled to Japan in 1941 to seek their support in the struggle against British rule in
India. The Japanese were interested in having Bose’s help in their own efforts to expand their
influence in Southeast Asia. Bose’s vision was to create a military force to fight against the
British in India with the help of Japanese weapons and training. The INA was formed in
Singapore in September 1942 with the slogan ‘Jai Hind’ (Victory to India). The INA consisted
of soldiers who were primarily from the Indian community in Southeast Asia. They were
trained by Japanese officers and were equipped with Japanese weapons. The INA fought
alongside Japanese forces in Burma and other parts of Southeast Asia during World War 1.
Bose’s leadership of the INA and his military campaigns against the British in India made him
a popular figure among many Indians. The consequences of the formation of the INA were
significant. The INA's campaigns against the British in India and the Indian soldiers’ role in the
Burma campaign had a psychological impact on the British forces. The British were shocked
that Indian soldiers had turned against them, undermining their confidence in maintaining
control over India. The INA also had a significant impact on the Indian independence
movement. Bose’s vision of a socialist India with equal rights for all citizens inspired many
Indians. The INA became a symbol of the struggle against British colonialism, and Bose’s
slogan of ‘Jai Hind’ became a rallying cry for the independence movement.

However, the INA's military campaigns were not successful in achieving their goal of freeing
India from British rule. The INA suffered significant losses in battles, and their efforts were
undermined by the Japanese surrender in 1945.

SubQuestion No : 36
Q.36 What was the significance of Bose’s slogan ‘Jai Hind’?

Ans X 1. It manifests the vision of selected communities.
X 2. ltwas a call to arms for the Indian and British Army.
«” 3. It symbolised the struggle against British colonialism.

/< 4. It represented Bose’s vision of a capitalist India.

Question ID : 630680513125
Option 1 ID : 6306802005329
Option 2 ID : 6306802005326
Option 3 ID : 6306802005327
Option 4 ID : 6306802005328
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Comprehension:

Read the given passage and answer the questions that follow.

Subhas Chandra Bose, a prominent Indian nationalist leader, was convinced that India could
not achieve independence without the use of force, and he believed that a military campaign
was necessary to achieve this goal. In 1942, Bose formed the Indian National Army (INA) with
the help of the Japanese.

Bose travelled to Japan in 1941 to seek their support in the struggle against British rule in
India. The Japanese were interested in having Bose’s help in their own efforts to expand their
influence in Southeast Asia. Bose’s vision was to create a military force to fight against the
British in India with the help of Japanese weapons and training. The INA was formed in
Singapore in September 1942 with the slogan ‘Jai Hind’ (Victory to India). The INA consisted
of soldiers who were primarily from the Indian community in Southeast Asia. They were
trained by Japanese officers and were equipped with Japanese weapons. The INA fought
alongside Japanese forces in Burma and other parts of Southeast Asia during World War 1.
Bose’s leadership of the INA and his military campaigns against the British in India made him
a popular figure among many Indians. The consequences of the formation of the INA were
significant. The INA's campaigns against the British in India and the Indian soldiers’ role in the
Burma campaign had a psychological impact on the British forces. The British were shocked
that Indian soldiers had turned against them, undermining their confidence in maintaining
control over India. The INA also had a significant impact on the Indian independence
movement. Bose’s vision of a socialist India with equal rights for all citizens inspired many
Indians. The INA became a symbol of the struggle against British colonialism, and Bose’s
slogan of ‘Jai Hind’ became a rallying cry for the independence movement.

However, the INA's military campaigns were not successful in achieving their goal of freeing
India from British rule. The INA suffered significant losses in battles, and their efforts were
undermined by the Japanese surrender in 1945.

SubQuestion No : 37
Q.37 What ultimately undermined the INA’s efforts to free India from British rule?
Ans X 1. The lack of support from the Indian and British people

«” 2. The Japanese surrender in 1945
25 3. Gandhi’s death

/< 4. The inferior military tactics of the British forces

Question ID : 630680513126
Option 1 ID : 6306802005330
Option 2 ID : 6306802005331
Option 3 ID : 6306802005332
Option 4 ID : 6306802005333
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and answer the questions that follow.

The French Revolution is a revolutionary movement that occurred in France between 1787
and 1799 and reached to its (1) in 1789. This revolution had many causes but the
most important of all was (2) of bourgeoisie, who were merchants, manufacturers and
professionals. The peasants, many of them landowners, wanted to get rid of the practices of
absolute monarchy and feudalism. Another factor was an increase in population due to
decreased mortality rates. It was followed by economic predicament and minor revolts were
common. This led to a clarion call for social reforms. Intellectuals like Rene Descartes wrote
about new things about political, social and economic matters. A fundamental political and
societal change was to occur. The French Revolution played a critical role in shaping modern
nations by showing the world the power inherent in the will of the people.

SubQuestion No : 38
Q.38 What is the meaning of the phrase ‘a clarion call’ in the passage?

Ans X 1. Declaration of war
X 2. A call for forces
/5 3. Beginning of a new phase

«” 4. A strongly expressed demand

Question ID : 630680405735
Option 1 ID : 6306801582069
Option 2 ID : 6306801582071
Option 3 ID : 6306801582070
Option 4 ID : 6306801582068
Status : Answered
Chosen Option : 4
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Comprehension:

Read the given passage and answer the questions that follow.

The French Revolution is a revolutionary movement that occurred in France between 1787
and 1799 and reached to its (1) in 1789. This revolution had many causes but the
most important of all was (2) of bourgeoisie, who were merchants, manufacturers and
professionals. The peasants, many of them landowners, wanted to get rid of the practices of
absolute monarchy and feudalism. Another factor was an increase in population due to
decreased mortality rates. It was followed by economic predicament and minor revolts were
common. This led to a clarion call for social reforms. Intellectuals like Rene Descartes wrote
about new things about political, social and economic matters. A fundamental political and
societal change was to occur. The French Revolution played a critical role in shaping modern
nations by showing the world the power inherent in the will of the people.

SubQuestion No : 39
Q.39 Select the most appropriate option to fill in blank no. 1.
Ans X 1. foundation

” 2. pinnacle
/< 3. middle
< 4. fall

Question ID : 630680405733
Option 1 ID : 6306801582061
Option 2 ID : 6306801582060
Option 3 ID : 6306801582063
Option 4 ID : 6306801582062
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and answer the questions that follow.

The French Revolution is a revolutionary movement that occurred in France between 1787
and 1799 and reached to its (1) in 1789. This revolution had many causes but the
most important of all was (2) of bourgeoisie, who were merchants, manufacturers and
professionals. The peasants, many of them landowners, wanted to get rid of the practices of
absolute monarchy and feudalism. Another factor was an increase in population due to
decreased mortality rates. It was followed by economic predicament and minor revolts were
common. This led to a clarion call for social reforms. Intellectuals like Rene Descartes wrote
about new things about political, social and economic matters. A fundamental political and
societal change was to occur. The French Revolution played a critical role in shaping modern
nations by showing the world the power inherent in the will of the people.

SubQuestion No : 40
Q.40 Select the most appropriate synonym of the word ‘Inherent’.
Ans 7 1. Natural

X 2. Artificial
25 3. Incited

25 4. Borrowed

Question ID : 630680405736
Option 1 ID : 6306801582072
Option 2 ID : 6306801582073
Option 3 ID : 6306801582074
Option 4 ID : 6306801582075
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Comprehension:

Read the given passage and answer the questions that follow.

The French Revolution is a revolutionary movement that occurred in France between 1787
and 1799 and reached to its (1) in 1789. This revolution had many causes but the
most important of all was (2) of bourgeoisie, who were merchants, manufacturers and
professionals. The peasants, many of them landowners, wanted to get rid of the practices of
absolute monarchy and feudalism. Another factor was an increase in population due to
decreased mortality rates. It was followed by economic predicament and minor revolts were
common. This led to a clarion call for social reforms. Intellectuals like Rene Descartes wrote
about new things about political, social and economic matters. A fundamental political and
societal change was to occur. The French Revolution played a critical role in shaping modern
nations by showing the world the power inherent in the will of the people.

SubQuestion No : 41
Q.41 Select the most appropriate option to fill in blank no. 2.
Ans X 1.sorrow

< 2.joy
& 3. kiling
«” 4. hankering

Question ID : 630680405734
Option 1 ID : 6306801582066
Option 2 ID : 6306801582065
Option 3 ID : 6306801582067
Option 4 ID : 6306801582064
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and answer the questions that follow.

Algae are photosynthetic creatures that have pigments that aid in photosynthesis, such as
chlorophyll. They do not, however, have the actual stems, roots or leaves found in vascular
plants. While some of them have many cells, others are unicellular. They might establish
colonies as well. The majority of algae are aquatic. Some are terrestrial, and they can be
found on rocks, trees and moist soil. Certain algae species coexist well with other living
things. For instance, lichens are a symbiotic relationship between green (and often blue-
green) algae and fungi. Algae are members of a multiphyletic group. This indicates that there
is no common ancestor and that the species in this category are not necessarily closely
related. They do not have other morphoanatomical characteristics typical of vascular plants,
but they do have one thing in common: they are eukaryotes with the principal pigment being
chlorophyll, which allows them to perform photosynthesis. Phycology is the scientific name for
the study of algae. The blue-green algae is one example of a reference. But some sources do
not classify them as algae because they are prokaryotes.

SubQuestion No : 42
Q.42 What is the central theme of the passage?

Ans X 1. The anatomy of vascular plants
«” 2. The diversity and characteristics of algae
/5 3. The prokaryotic nature of blue-green algae

/< 4. The symbiotic relationship between algae and fungi

Question ID : 630680545638
Option 1 ID : 6306802133144
Option 2 ID : 6306802133146
Option 3 ID : 6306802133147
Option 4 ID : 6306802133145
Status : Answered
Chosen Option : 2
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Comprehension:

Read the given passage and answer the questions that follow.

Algae are photosynthetic creatures that have pigments that aid in photosynthesis, such as
chlorophyll. They do not, however, have the actual stems, roots or leaves found in vascular
plants. While some of them have many cells, others are unicellular. They might establish
colonies as well. The majority of algae are aquatic. Some are terrestrial, and they can be
found on rocks, trees and moist soil. Certain algae species coexist well with other living
things. For instance, lichens are a symbiotic relationship between green (and often blue-
green) algae and fungi. Algae are members of a multiphyletic group. This indicates that there
is no common ancestor and that the species in this category are not necessarily closely
related. They do not have other morphoanatomical characteristics typical of vascular plants,
but they do have one thing in common: they are eukaryotes with the principal pigment being
chlorophyll, which allows them to perform photosynthesis. Phycology is the scientific name for
the study of algae. The blue-green algae is one example of a reference. But some sources do
not classify them as algae because they are prokaryotes.

SubQuestion No : 43
Q.43 What does the term 'multiphyletic group’ mean in the context of algae?

Ans X 1.Being closely related species
«” 2. No common ancestor, not closely related
/< 3. Having diverse morphoanatomical characteristics

/< 4. Having a common ancestor

Question ID : 630680545647
Option 1 ID : 6306802133181
Option 2 ID : 6306802133182
Option 3 ID : 6306802133183
Option 4 ID : 6306802133180
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and answer the questions that follow.

Algae are photosynthetic creatures that have pigments that aid in photosynthesis, such as
chlorophyll. They do not, however, have the actual stems, roots or leaves found in vascular
plants. While some of them have many cells, others are unicellular. They might establish
colonies as well. The majority of algae are aquatic. Some are terrestrial, and they can be
found on rocks, trees and moist soil. Certain algae species coexist well with other living
things. For instance, lichens are a symbiotic relationship between green (and often blue-
green) algae and fungi. Algae are members of a multiphyletic group. This indicates that there
is no common ancestor and that the species in this category are not necessarily closely
related. They do not have other morphoanatomical characteristics typical of vascular plants,
but they do have one thing in common: they are eukaryotes with the principal pigment being
chlorophyll, which allows them to perform photosynthesis. Phycology is the scientific name for
the study of algae. The blue-green algae is one example of a reference. But some sources do
not classify them as algae because they are prokaryotes.

SubQuestion No : 44

Q.44 Which statement accurately describes vascular plants based on the
information in the passage?

Ans X 1. Vascular plants are unicellular in structure.
/< 2. Algae and vascular plants share the same morphoanatomical characteristics.
«” 3. Vascular plants have true stems, roots and leaves, unlike algae.

< 4. Vascular plants lack stems, roots and leaves.

Question ID : 630680545646
Option 1 ID : 6306802133177
Option 2 ID : 6306802133178
Option 3 ID : 6306802133179
Option 4 ID : 6306802133176
Status : Answered
Chosen Option : 3
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Q.45

Ans

Comprehension:

Read the given passage and answer the questions that follow.

Algae are photosynthetic creatures that have pigments that aid in photosynthesis, such as
chlorophyll. They do not, however, have the actual stems, roots or leaves found in vascular
plants. While some of them have many cells, others are unicellular. They might establish
colonies as well. The majority of algae are aquatic. Some are terrestrial, and they can be
found on rocks, trees and moist soil. Certain algae species coexist well with other living
things. For instance, lichens are a symbiotic relationship between green (and often blue-
green) algae and fungi. Algae are members of a multiphyletic group. This indicates that there
is no common ancestor and that the species in this category are not necessarily closely
related. They do not have other morphoanatomical characteristics typical of vascular plants,
but they do have one thing in common: they are eukaryotes with the principal pigment being
chlorophyll, which allows them to perform photosynthesis. Phycology is the scientific name for
the study of algae. The blue-green algae is one example of a reference. But some sources do
not classify them as algae because they are prokaryotes.

SubQuestion No : 45

According to the passage, which is the main pigment in algae for
photosynthesis?

25 1. Melanin

< 2. Xanthophyll
«” 3. Chlorophyll
25 4. Carotenoid

GET IT ON

Google Play

Question ID : 630680545645
Option 1 ID : 6306802133172
Option 2 ID : 6306802133173
Option 3 ID : 6306802133174
Option 4 ID : 6306802133175
Status : Answered
Chosen Option : 3

Section : Module Il General Awareness

Q.1

Ans

T 1 P[] &1 G 2 ° 39wl @ e i)
It 1 Tt 2

A. T faiaw! 3T ¢ 919 (The Philosophy of the Bomb) 1. ARIgHTY IT=aTel
B. ¥&) S1a (Bandi Jiwan) 2. %W o= TgiuTeary

C. UTdR &&f (Pather Dabi) 3. HRTGCERUT AgT

D. 3HEHS (Anandmath) 4. YR T TS IUTATH

« 1.A-3,B-1,C-4,D-2
& 2.A-4,B-3,C-2, D1
£ 3.A-1,B-3,C-4,D-2
£ 4.A-3,B-1,C-2,D-4

Question ID : 6306801102055
Option 1 ID : 6306804329458
Option 2 ID : 6306804329460
Option 3 ID : 6306804329459
Option 4 ID : 6306804329457
Status : Marked For Review
Chosen Option : 1
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Q.2 gRPIe-AA-gy A7 5 TR W INGRa wrsferm MidH-22 (PMP22) S &
U ¥ SR g 82

Ans X 1. HIERIH 21
2. DN 17
X 3. PHaT 8
X 4. BN 15

Google Play

Question ID : 630680618495
Option 1 ID : 6306802420310
Option 2 ID : 6306802420312
Option 3 ID : 6306802420309
Option 4 ID : 6306802420311
Status : Answered
Chosen Option : 1

Q.3 fEfafad § & -0 ewae 19 82
Ans X 1. gARH

o 2.5

X 3. 3o

X 4. g

Question ID : 630680607661
Option 1 ID : 6306802377751
Option 2 ID : 6306802377752
Option 3 ID : 6306802377749
Option 4 ID : 6306802377750
Status : Answered
Chosen Option : 2

Q.4 1956 B yIRRUfIH} &5 1 Ieara 'wifRufaa & gfard) sors & wu d
faa fvar ut?

Ans X 1. Tc! foddies
X 2.9 8RR
X 3.3Td B
o 4. IR garg

Question ID : 630680618937
Option 1 1D : 6306802422026
Option 2 ID : 6306802422025
Option 3 ID : 6306802422027
Option 4 ID : 6306802422024
Status : Marked For Review
Chosen Option : 2
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Q.5 ey § A fra ame § vdia =amaray 3 Fréw R o f, e iy
Fw&mmmmmmﬁwmmm
C "2

Ans X 1. 3 Ire 59, 1992
X 2. HREMGE YR Hd, 1973
X 3. firrat e %9, 1980
o 4. AP 1Y &4, 1967

GET IT ON

Google Play

Question ID : 630680723420
Option 1 ID : 6306802834878
Option 2 ID : 6306802834881
Option 3 ID : 6306802834880
Option 4 ID : 6306802834879
Status : Answered
Chosen Option : 3
Q.6 Select the most appropriate answer from the options given below
regarding Census 2011.
Statement 1. The population of India has increased by more than 181
million during the decade 2001-2011.
Statement 2. The percentage decadal growth during 2001-2011 has
registered the sharpest decline since Independence.
Ans X 1.Only statement 1 is correct.
#< 2. Both statements 1 and 2 are not correct.
«” 3. Both statements 1 and 2 are correct.
#< 4. Only statement 2 is correct.
Question ID : 630680590848
Option 1 ID : 6306802311859
Option 2 ID : 6306802311862
Option 3 ID : 6306802311861
Option 4 ID : 6306802311860
Status : Answered
Chosen Option : 1
Q.7 Which theory, independently introduced in 1923, led to the concept of acid-
base conjugate pairs?
Ans X 1. Davy's theory
£ 2. Arrhenius theory
25 3. Lewi's theory
«” 4. Bronsted-Lowry theory
Question ID : 630680618182
Option 1 1D : 6306802419071
Option 2 ID : 6306802419070
Option 3 ID : 6306802419072
Option 4 ID : 6306802419069
Status : Answered
Chosen Option : 4
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Q.8 FIF-IT R EX 3T JaA T 3N T $S AeH] & 9 e arqa= &
A $H 3R BT AFH HIAT 8?2

Ans 1. T3
X 2. Hura
X 3. 4R
r R

Google Play

Question ID : 630680635912
Option 1 ID : 6306802489520
Option 2 ID : 6306802489521
Option 3 ID : 6306802489519
Option 4 ID : 6306802489518
Status : Answered
Chosen Option : 3

Q9 fFufafEd & & few Haurte S srfiferaw 3 gufa &1 vy <t
Jreerdr arent HAURue 1 garg I 9y B fu?

Ans o . 409
X 2. 469
X 3.487
& 4429

Question ID : 630680615237
Option 1 ID : 6306802407622
Option 2 ID : 6306802407624
Option 3 ID : 6306802407625
Option 4 ID : 6306802407623
Status : Answered
Chosen Option : 2

Q.10 FFgfifaa # T 59 sawR W 9 2020 # WPy feforea w@rea =M (National
Digital Health Mission) @1 J[3(Td Pt 75?2

Ans X1, fearett
X 2. o feaq
3. Wl faag
X 4. ieht St
Question ID : 630680580485
Option 1 ID : 6306802270829
Option 2 ID : 6306802270826
Option 3 ID : 6306802270827
Option 4 ID : 6306802270828
Status : Answered
Chosen Option : 4
Q11 HYAJ ST BT gHA IS A
Ans 1. DU
X 27|
X 3. 1Rl
X 4.0

Question ID : 630680511491
Option 1 1D : 6306801999088
Option 2 ID : 6306801999087
Option 3 ID : 6306801999089
Option 4 ID : 6306801999086
Status : Marked For Review
Chosen Option : 1
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Q.12 Which portal allowed stakeholders seamless access to information related
to funding, documentation, project monitoring, and approval through four
efficient ways of logging in for monitoring the implementation of Centrally
Sponsored Schemes in 2023?

Ans X 1. Digital India Portal
«” 2. Nyaya Vikas Portal
#< 3. Viksit Bharat Portal

#< 4. Pradhan Mantri Jan bhagidari Yojana Portal

GET IT ON

Google Play

Question ID : 630680579878
Option 1 ID : 6306802268402
Option 2 ID : 6306802268404
Option 3 ID : 6306802268403
Option 4 ID : 6306802268405
Status : Answered
Chosen Option : 4
Q.13 In December 1991, which act was amended to bring public enterprises
under the purview of the Board for Industrial and Financial Reconstruction
(BIFR) as part of the country's economic reforms program?
Ans X 1. Industries Act
#< 2. Companies Act
«” 3. Sick Industrial Companies Act
#< 4. Financial Rehabilitation Act
Question ID : 630680618155
Option 1 ID : 6306802418962
Option 2 ID : 6306802418961
Option 3 ID : 6306802418963
Option 4 ID : 6306802418964
Status : Answered
Chosen Option : 1
Q.14 YR TSR BT HRAATS IREISHT, WRe & Frafafed 4 @ i damea &
Siefa et g2
Ans 1. TSH URag Ud JSTHN Ty
X 2. 78 HAT™
X 3. 7afarur, 99 vd Searg uRadH dErad
X 4. 98, a8 Ud SIqAn! HATe™
Question ID : 630680656502
Option 1 ID : 6306802569952
Option 2 ID : 6306802569953
Option 3 ID : 6306802569950
Option 4 ID : 6306802569951
Status : Answered

Chosen Option :

1
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Q.15 T YRA & TUYH aAl B4 A2
Ans X 1. TICT 3fegd A 3G
X 2. g HER
3. TR ey WIS ued
X 4. 9oea Rig

Google Play

Question ID : 630680695139
Option 1 ID : 6306802722796
Option 2 ID : 6306802722798
Option 3 ID : 6306802722797
Option 4 ID : 6306802722795
Status : Answered
Chosen Option : 3

Q.16 g wifa A vgd URa ¥ $Y & #1 fRufa ar A2
Ans X 1. 39d UEfeT BT TaRT U6 auf wR AR

2. T TS BT AN SR Sawge gFHard e o1 ofHa
X 3. 39 Wit 3R I= Iareehar Bl JuanT

X 4. URuRe e &1 IuaT iR sazaed gREd ard & uERa

Question ID : 630680607902
Option 1 ID : 6306802378790
Option 2 ID : 6306802378789
Option 3 ID : 6306802378792
Option 4 ID : 6306802378791
Status : Answered
Chosen Option : 2

Q.17 3, 2023 ¥ fay s mATIS eikm ofiv e~ ufeaifiar & faae
fraa oftare?

Ans X 1.1 gRepwn
2. 8. TH™
X 3. PHw gl
X 4. fayre sfria

Question ID : 630680576300
Option 1 ID : 6306802254033
Option 2 ID : 6306802254035
Option 3 ID : 6306802254034
Option 4 ID : 6306802254032
Status : Marked For Review
Chosen Option : 2

Q.18 gTeex WA A frw oo § JUREHT @Y TY U Q 3T IR TIREH (WrgeRi)
31 gH ufthar &1 qui $A & 1T TR &1 sifiRe far?

Ans X 1.1956
< 2.1780
X 3.1901
 4.1882

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680618499
6306802420328
6306802420325
6306802420327
6306802420326
Marked For Review
4
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Q.19 uwﬁmmﬁmaﬁaﬁqqﬁhwmwﬁwﬁwaﬂﬁm
AR TR TR SRd- GﬂTﬁl (hexagonal barrel-shaped) F s T 81

GET IT ON

Google Play

Ans X 1. HhIURISe
2. DR
2 3. 3ficliarga
X 4. SdmEe
Question ID : 630680618207
Option 11D : 6306802419169
Option 2 ID : 6306802419170
Option 3 ID : 6306802419172
Option 4 ID : 6306802419171
Status : Answered
Chosen Option : 1
Q.20 a1 P YHA 919 T WY St o Tl & SR g & SR Ar=aa: Yf-gds<t
P AN A PAGRAS A, HEgAR B
Ans 1. d ddSI (waterspouts)
X 2.80%A (hurricanes)
X 3.%5d (squalls)
< 4. T3P (typhoons)
Question ID : 630680616023
Option 1 ID : 6306802410794
Option 2 ID : 6306802410796
Option 3 ID : 6306802410795
Option 4 ID : 6306802410797
Status : Answered
Chosen Option : 1
Q.21 What is the name of the ion with a charge of -1?
Ans X 1. Cation
«” 2. Anion
£< 3. Monovalent ion
£< 4. Polyvalent ion
Question ID : 630680572265
Option 11D : 6306802237917
Option 2 ID : 6306802237916
Option 3 ID : 6306802237918
Option 4 ID : 6306802237919
Status : Answered
Chosen Option : 3
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Q.22 Which of the following sentences is/are true?

i. All isoclines are expansion paths but all expansion paths are not
isoclines.

ii. Short-run production functions involve adjusting all inputs, including
fixed inputs like land or capital, to affect output.

iii. Stock resources are the resources which are not used in one period of
production but can be stored for a later period.

GET IT ON

Google Play

Ans X 1. Onlyii
£< 2. Only ii and iii
«” 3. Only iii
25 4. 0nly i
Question ID : 630680618707
Option 11D : 6306802421106
Option 2 ID : 6306802421108
Option 3 ID : 6306802421107
Option 4 ID : 6306802421105
Status : Answered
Chosen Option : 2
Q.23 Who urged political parties to engage in discussions that inspire unity
rather than division and promote ideas instead of personal attacks in the
address on the eve of National Voters Day in January 20247
Ans X 1. Prime Minister Narendra Modi
£ 2. Union Home Minister Amit Shah
«” 3. Chief Election Commissioner Rajiv Kumar
£< 4. President Droupadi Murmu
Question ID : 630680574510
Option 1 1D : 6306802246904
Option 2 ID : 6306802246907
Option 3 ID : 6306802246905
Option 4 ID : 6306802246906
Status : Answered
Chosen Option : 3
Q.24 Select the option that is true regarding the following two statements
labelled Assertion (A) and Reason (R).
A. The first battle of Panipat was one of the decisive battles of India.
R. It brought into power a new band of invaders called Mughals.
Ans X 1. Statements A and R are true, but R is not the correct explanation of A.
«” 2. Statements A and R are true, and R is the correct explanation of A.
#< 3.Ris true, but A is false.
& 4. Alis true, but R is false.
Question ID : 630680570879
Option 1 1D : 6306802232578
Option 2 ID : 6306802232577
Option 3 ID : 6306802232580
Option 4 ID : 6306802232579
Status : Answered
Chosen Option : 2
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Q.25 Which of the following statements is/are correct?

Statements:

1) Ampere's Law describes the relationship between electric current and
the magnetic field it produces.

2) Maxwell's equations are a set of four fundamental equations governing
electric and magnetic fields in the absence of charges and currents.

Ans X 1.Both Statements 1 and 2
£ 2. Neither Statement 1 nor 2
< 3. Only Statement 2
«” 4. Only Statement 1

Question ID : 630680593999
Option 1 ID : 6306802324250
Option 2 ID : 6306802324251
Option 3 ID : 6306802324249
Option 4 ID : 6306802324248
Status : Answered
Chosen Option : 1

Section : Module | Computer Knowledge Module

Q.1 gﬁﬂﬂ@ﬁﬁﬁ,ﬁwaﬁﬁ?ﬁﬁmaﬂ%%mwmaﬁéﬁw
?

Ans 7 1 AE+H+O+W

25 2. Shift+H+O0+W
K 3. Ctrl+H+0O+W
K 4.Ctrl+O+W+H

Question ID : 630680994785
Option 1 1D : 6306803903169
Option 2 ID : 6306803903167
Option 3 ID : 6306803903168
Option 4 ID : 6306803903170
Status : Not Answered
Chosen Option : --

Q2 FugeR R & Wey F, Fafafad ¥ § F9-a@ o3 9t 332
gma?nmﬁ%,maﬁ%%mmﬁaﬁﬁﬁ%ﬁ%aw
ST @l
ROM FT IUANT HER P ¢ H 7 ATaRTD 3SR (instructions) B LR
B & fore fpar sirar 21

Ans X 1. %Had 1
X 2.9d@13RAL2
X 3. %ad 2
4.1 3R 23H

Question ID : 6306801312631
Option 1 ID : 6306805165326
Option 2 ID : 6306805165329
Option 3 ID : 6306805165327
Option 4 ID : 6306805165328
Status : Answered
Chosen Option : 4
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Q.3 What is the primary advantage of being able to insert and delete slides in
an MS PowerPoint presentation?

Ans ¢ 1. To allow for dynamic content adjustment and organisation
< 2. To apply different templates to individual slides
£< 3. To enhance slide transitions

25 4. To enable the addition of multimedia content

Question ID : 630680990672
Option 1 ID : 6306803887025
Option 2 ID : 6306803887026
Option 3 ID : 6306803887027
Option 4 ID : 6306803887024
Status : Answered
Chosen Option : 1

Q.4 What is the main purpose of using a template when creating a presentation
in MS PowerPoint?

Ans ¢ 1. To ensure consistency and professionalism
#< 2. To create interactive quizzes within slides
#< 3. To automatically insert multimedia content

25 4. To add complex animations easily

Question ID : 630680990668
Option 1 ID : 6306803887009
Option 2 ID : 6306803887011
Option 3 ID : 6306803887010
Option 4 ID : 6306803887008
Status : Not Answered
Chosen Option : --

Q.5 5 YTPR P IEE, Fidl 5w F g Aae? A1 818 539 & arex 9 Rale
(MBR) & IshTAd (infect) HT 82

Ans 1.@@@W(Boot Sector Virus)
7 2. B! IRY (Macro Virus)
< 3. STRGT UaRH IRy (Direct Action Virus)
X 4.8 aRRY (Resident Virus)

Question ID : 630680994654
Option 1 ID : 6306803902665
Option 2 ID : 6306803902666
Option 3 ID : 6306803902663
Option 4 ID : 6306803902664
Status : Answered
Chosen Option : 1

Q.6 LAngmaﬁaﬁwmﬁ%ﬁEmzﬁmﬁmmmﬁm
AT 82

Ans X' 1 3R (Router)
« 2. T (Switch)
X 3. IR (Repeater)
X 4. 1189 (Modem)

Question ID : 630680994538
Option 1 ID : 6306803902226
Option 2 ID : 6306803902225
Option 3 ID : 6306803902228
Option 4 ID : 6306803902227
Status : Marked For Review
Chosen Option : 1
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Q.7 Which of the following best describes Electronic Mail (E-mail)?

Ans ¢ 1. A method of sending messages electronically over a computer network.
25 2. A system for storing digital files on the cloud.
£#< 3. A service used to make phone calls over the internet.

25 4. A type of secure online transaction system.

Question ID : 6306801301628
Option 1 ID : 6306805121417
Option 2 ID : 6306805121418
Option 3 ID : 6306805121416
Option 4 ID : 6306805121419
Status : Answered
Chosen Option : 1

Q.8 Match the Task Manager tabs in column A with their
respective functionalities in column B.

Column A Column B
1. Processes a) Monitors overall CPU, memory, disk, and
network usage
2. Performance b) Displays active applications and
background processes
3. Startup c) Manages programs that run during system
startup
4. App History d) Shows resource usage for Windows Store
apps

Ans X 1.1-a,2-c, 3-b, 4-d

&5 2. 1-¢, 2-b, 3-d, 4-a
25 3.1-d, 2-b, 3-a, 4-c
« 4.1-b, 2-a, 3-c, 4-d

Question ID : 6306801316628
Option 1 ID : 6306805181050
Option 2 ID : 6306805181049
Option 3 ID : 6306805181051
Option 4 ID : 6306805181048
Status : Marked For Review
Chosen Option : 4

Q.9 fHfIfEd o | HIH-UT, ROM & Th UHR BT IGTeIVT ¢ o sATI D U
$3 IR 339 (erase) fHaT o1 T § 3R YA: W f5ar o1 Aevar 82

Ans X 1.PROM
5 2. Mask ROM
X 3. EPROM
« 4. EEPROM

Question ID : 630680990676
Option 1 ID : 6306803887043
Option 2 ID : 6306803887040
Option 3 ID : 6306803887042
Option 4 ID : 6306803887041
Status : Answered
Chosen Option : 3
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Q.10 HiaH A ¥ BI3d AIBIT BER & HIad B § 0! Td Srigmarsi ¥ frams
PR

B A PIaH B
1. 94 SR (Search a) Il 81 § Ueg &1 1S BIall 3R el bl Uefid il g
Bar)
2. % TRy b) TCHE (attributes) % GRT WIgall ® FUT(grouping) B
(Quick Access)  3fRR T (sorting) B BT AU AT 8
3. TREHRE  ¢) 3P T el BIIa & o€ I Y Repred Har ¥
Wildcards)
4. BRATR  d) DTS 3T HP BT 3R HIeS Bl dibe Bl &

(File Sorting)
Ans X 1.1-a, 2-c, 3-b, 4-d
£ 2.1-b, 2-d, 3-a, 4-c
25 3. 1-c, 2-b, 3-a, 4-d

o 4.1, 2-a, 3-c, 4-b

GET IT ON

Google Play

Question ID : 6306801316608
Option 11D : 6306805180973
Option 2 ID : 6306805180972
Option 3 ID : 6306805180971
Option 4 ID : 6306805180970
Status : Answered
Chosen Option : 4
Q.11 Which method is used to protect sensitive information during data
transmission?
Ans X 1.Hashing
< 2. Decryption
£#< 3. Compression
«” 4. Secure Socket Layer (SSL)
Question ID : 6306801305925
Option 11D : 6306805138610
Option 2 ID : 6306805138608
Option 3 ID : 6306805138609
Option 4 ID : 6306805138611
Status : Answered
Chosen Option : 2
Q.12 Which operation can one directly perform using File Explorer in Windows?
Ans X 1. Manage user accounts
£#< 2. Run diagnostic tests
25 3. Modify system settings
«” 4. Move, copy, or delete files
Question ID : 6306801313359
Option 11D : 6306805168186
Option 2 ID : 6306805168185
Option 3 ID : 6306805168184
Option 4 ID : 6306805168187
Status : Answered
Chosen Option : 4
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Q.13 Select which of the given statement(s) is/are True or False for the Central
Processing Unit (CPU) of the Computer Systems.

(i) The CPU's clock speed controls the timing and execution speed of
instructions.

(ii) The CPU's cache memory provides high-speed access to frequently
used instructions and data.

Ans 7 1. (i) True, (i) True
< 2. (i) False, (i) False
25 3. (i) False, (ii) True
25 4. (i) True, (i) False

GET IT ON

Google Play

Chosen Option :

Question ID : 630680986233
Option 11D : 6306803868913
Option 2 ID : 6306803868916
Option 3 ID : 6306803868915
Option 4 ID : 6306803868914
Status : Answered
Chosen Option : 1
Q.14 THTH 98 2010 ¥, A TS (add) H F forg fra FiaE widwpe &1 IuahT
forar ST 82
Ans X 1.Shift+L
K 2.Ctrl + Alt+ L
X 3.Ctrl+L
o 4. Ctrl + Shift + L
Question ID : 630680995342
Option 11D : 6306803905387
Option 2 ID : 6306803905389
Option 3 ID : 6306803905388
Option 4 ID : 6306803905390
Status : Answered
Chosen Option : 3
Q.15 DRAM & THY-TWT R N6 B F} Sa=asdl HT G-I RO T 872
Ans X 1. UG ST P fFaaR BT
o 2. 321 {90 B TR A a1 HURIER (capacitors) BT faTst AT
X 3. 9IP1g &F1 & HRU G a1 Sel PRI DI AHT
< 4. CPU &1 71U 32T & UaY B BT SiHfd T
Question ID : 6306801292136
Option 11D : 6306805082746
Option 2 ID : 6306805082748
Option 3 ID : 6306805082747
Option 4 ID : 6306805082749
Status : Answered

1
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Q.16 THTH g8 § HIH-U1 BIER, Tok &1 3137, T15ed 3T Ha-2T5ed o TRT
uferic # U SRR g TS H B glawr a1 82

Ans X 1. Macros

GET IT ON

Google Play

Chosen Option :

25 2. Template
< 3. Table
«” 4. Styles
Question ID : 630680994687
Option 1 ID : 6306803902790
Option 2 ID : 6306803902788
Option 3 ID : 6306803902787
Option 4 ID : 6306803902789
Status : Answered
Chosen Option : 2
Q.17 fFafafaa & 9 s JRan (security mechanism) 98 gf3d &l @
fr Rew vy, P AT & 31 S¥erd gl wIng?
Ans X 1. BRIRA(A (Firewall)
5 2. W%WHW (Intrusion Detection System)
X 3. RITIR 9 (Secure Boot)
4. Tg FAeTHc JIoediR (Patch management software)
Question ID : 6306801261653
Option 1 ID : 6306804961198
Option 2 ID : 6306804961196
Option 3 ID : 6306804961197
Option 4 ID : 6306804961195
Status : Answered
Chosen Option : 1
Q.18 THTH TR 2003 H, Th Hiad & AfUamad fraa FHiaex qumaitm fee sn
TaHa g2
Ans X 1.1064 YR
o 2. 255 PG
X 3. 65536 BT
X 4.512 HFR
Question ID : 630680994662
Option 1 ID : 6306803902697
Option 2 ID : 6306803902695
Option 3 ID : 6306803902698
Option 4 ID : 6306803902696
Status : Not Answered
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Q.19 Which of the following technologies allows real-time communication over
the Internet, such as voice and video calls, without requiring additional
software or hardware beyond a web browser?

Ans 7 1. WebRTC

GET IT ON

Google Play

Chosen Option :

25 2. Email

X 3.VolP

X 4.FTP
Question ID : 6306801301495
Option 1 1D : 6306805120874
Option 2 ID : 6306805120872
Option 3 ID : 6306805120873
Option 4 ID : 6306805120875

Status : Answered
Chosen Option : 3
Q.20 AIFHINIGE TSP |, T Ve $I 30 Rpis & fig T@d gu, wrw $0a &1
foreft o afeT 1 o[ & fore w193 frar Y S =nfke?
Ans 1. 30T 31U HY, 'Forward' TR e B 3R UTdhdl 1 S Udl &of e |

X 2. 'Reply All' R {3 B¢ 3R 3 T # ¥ 'Forward' &I Jdde B |

2< 3. 'Archive' 3T=IT BT ITAT B3 3R T 7471 37 fohue B3|

X 4. 'Reply W faie &3 3R 7T Ui &l sHd UdT US (add) B
Question ID : 630680996276
Option 1 1D : 6306803908845
Option 2 ID : 6306803908844
Option 3 ID : 6306803908846
Option 4 ID : 6306803908847

Status : Answered

1
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